TABLE 2, -- Estimated coal reserves in narts of the Eska and Evan Jones coal-leasing units.
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Totels 33)4.000 206'000 3.055. 000 X 270,000 5,935,000 5 369,000 s 85""000

l/Reserves given are exclusive of developed coal above gangways at the end of
19%, In computing tonnages one ton of coal was assumed to occupy 25 cubic feet in

place,

Ql'lbnnages in this column include coal down to the axis of the syncline,
¢ase of inajequate data tonnages on the south limb were not computed but may total
2 mich a3 2 million tons, mainly on the Evan Jones lease below the present mine

leve],

3/Tonnages in this column include coal down to the probable lower limit of
chute mining., The limit was based on the assumption that a slope to develop this

coal would be stopped and a lower level turned at a point where the dip became less
than about 300,

Be- 4/About 300,000 tons of this total lies in coal-leasing unit 6.

5/About 1 million tons of this total lies in coal-leasing unit 6.



